B
350 x 350x 12x 19
= 398,000,000 mm’
= 350 mm
= 2.0 x 10% KkN/m?
1 h
B =
4
h(kN/m*) (m hx B (M)
1 42,035 0.100 4204 0.464
2 120,000 0.000 0 0.603
3 0 0.000
4 0 0.000
5 0 0.000
6 0 0.000
7 0 0.000
8 0 0.000
9 0 0.000
0.100 4,204
—— 3 h 4,204
h h = X o524 00k
s 0.100
B = 0.464 nm*
1.0
iakhal 0.000 = 2.155 s = 0.100 "oouT




B
4
= 386,000,000 mm’
= 1,000 mm
= 2.0 x 10% KkN/m?
a = 45%
4
B =
4
h(kN/m*) (m hx B (M)
1 481 0.100 48 0.243
2 120,000 2.000 240000 0.964
3 0 0.000
4 0 0.000
5 0 0.000
6 0 0.000
7 0 0.000
8 0 0.000
9 0 0.000
2.100 240,048
h = z_ I 240,048 114,309 kN/m°
b2 2.100
B = 0.780 '
1.0
- 0.000 = 1.282 s = 2.100 "ooUT "




